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Fhe ratio of the modulus of elasticity
(F} and the bulk m Dj uius (K) (in terms
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Work done on a body by an externally
applied load isstored as ............in the

material of the hr;cl_t;

(@l  Internai Sirain energy

{ internal work done
{c) Exiernal siraln energy
(i Esiernal work done

The maximur siraim energy which can
5e stored in a pieue ot material without

permanent strain is called its

(2]  Resilience

!-:ll-} .:I ]_\.._.]'\-'l'vr = .fl ﬂl'r 5" v?: l‘sfr v
(¢ Froof resilience £y
(4} Total Energy

The stressdue 10 8 suddenly applied load

£

is.......that due to a gradually applied

' Zouu of thp same magnitude

fa}+ '*"OI‘ICE‘ h Twice
el Thrice {d}  Four times

In an overhanging beam with egual
overhangs on ¢iiner side and with eausal
point loads at the free ends, the portion
of the beam between the supports is in
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(a)  Pure shear

(b}  Deflection

(c) Section modulus

(d)  Pure bending

in simple bending, the neutral axis
Passes........... of the cross section

t Where the sfress is zevo

(b)  Where the strain is zero

}  Through cenfroid

(d)  Through the shear centre
Generally for most britile materials,
ultimate sirength in comprefﬂsmﬂ is mut:n

o

......

(a)  Com ijE"SS"iDT‘J ffallure is due to
rmtmeu :;’freqq c:mrf tatlure in tension
L is due_to: shear stress
(b) - - Yieid%point does not occur in
compression

(i inherent properties of the

T
]
Fali

materials

() Of flaws such as microscopic
cracks or cavities

In a compression test on miid steel

Hooke's law is not valid

)

(bl Hooke's law is not valied bevond
yia—zid point
i MNecking does not occur
(] btrength in compression is much
greater than that in tension
The fixed end BM of a cantilever of

length’ with a couple M acting at its free
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110, The maximum negative BM in a fixed | 114 At a peint in a sirained material, the

beam carrying a uniform loading is at normal stresses on two perpendicular
planies are 100 MFa [tensile) and 50 MPa
{compressive). The normal stress acting
on the plane of the maximum shear is

(aj  mid - span

e &
(b) g the span

(a) 25 MPa (comp)
(c)  quarter span (b} 75 MPa (comp)
d)  Supports : ; (c} 25 MPa {ten)
111, A rectangular block of size 200mm x id] 75 MPa (ten)

50mm is subjected in a shear stress of

F—t
il

Consider the following statements

o
50MPa. i the rigidity modulus of the
. 5 ~ incinie nlanes. t » will be
materialis 1 x 10 MPa the strain energy ) On PEHLEHAE, Pt here will be
o no tangential stress
stored wili be [per meter]
| 5 (it Shear stresses on mutually
(a) 10} Nmm ' T pmn , = jope
: PeErpenalCliial nanesys arg
bl Ry 10" Nmm nurmericaliv equal Ly P
' B g
(¢ 125x 10 Nmm i) Maximum shear stress s equas Lo
@ ; 04 3 half the sum obthe maximurn and
¢ N o ;s ; ;
i 4 H ‘ minimum principal stresses of
112, The stress at which a material gets thesestatements
T S BT Ay ) < R R S '*-.';:.' T { R i A - A+
fractured under a large number of &) i, iband.iii are correct
reversais of stress is catled e Bwea N
by i an%_-_u are correct
{o1) Endurance limit . i ',W
' (¢ i and ifi ave corect
() Creep : S :
: (d}  1and iii are correct
ic) Ultimate strength 2R g 8w : ;
' 2 o 16, A simple beam iz loaded as shown in
(d)  Plastic limit SReE the figure, the bending movemeni at £
I ~ . 1 . ¢ .-:. e H kh‘@illd be
115, Give the relation betweén the three
- i : iy Ay T ] ; "} 20 4.0 20kM _
moduli of L}aitl%l;y (E. N and K} is 20KNm . 20N

1
/ | ;
! ‘é' T i ,!‘

g L
< v Frts \‘S%}Q\E H - - ?L_ —r i
@) . E e i) o | ] Vol
; kgﬁ_&_ E\ﬁ j‘;" ES ] s ¢ s f.'

\“&.g_.“um—pgﬂ—'! MY def— 1 s 1T

e

© e o P GRN
o) B= mpr) ia) 60 kNm (sagging]
— (b} 40 kNm (hoguing)
9 KN o
; ' : (,J; ﬁ) (c) 60 kNm {hogging)
H T
id} 40 kNm (sacging]
3 KN

ol s e 0 2
(1) £ (OK —N)
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140 s JECET FEFHT Civil Engineering [Guestion Paper-2016 (F.5.)]
117, Forthe hearn subjected to udl (w) shown | 121, The effect of a support sinking by & in a
b ] - :
below, the BM at either support is beam of span ! and flexural rigidity El is
SN ORI equivalent to causing a bending moment
: w ﬂ"" |
S | e | e | of
2
,. " Wi*
a) 0O o/ S El & 2EL 8
E [a) Lz (b] T
g ke
o Wh B o T . BES  3Ea
# 2 ¥ g () —7 (d) ;
- i-- 1_
118, The shear centre ot a section is defined | 122. The *"0’19” support in a given beam is
i ' A con ™}
s that gt taken ir onjugate beam as
. - ¢ oy : : a) hinge
fa)l [hrough which the load must pass { 3
to produce no twisting of the (b fixed
section () Rooker sunport
() At which the shear force is zevo () Reller support
() At which the shear force is a | 123. The safe ioad for an eccemricatfu loaded
ma}\}_n'lu_‘l'l CDIU:-T” I‘l!du [_-E C[E‘.aQI’mIHEd b.,-[ U%‘T‘lg
i Y 5 - ] i &= N II' :— } J ME
id) At which the shear force is a laj  Eule ;oz'mbla
minimum (b} ;éohﬂis;cm g ?;;_-af«auuiic formula
119 A beam has a tviangular cross-section L lel Rankine's formula
with base b and alitude h. If a section S '(d;" IS code formula
of the beam is subjeciad to a shear force e ‘
E o ; —— sl i | 1243 &, f!md heam AB of span | is loaded
- shear stress al the level of neutral axis ;o S s
- ‘ = | - with triangular loading with intensity zero
v e is give i . b .o
i the cross sectinn is given JDB’ | A at & and w per unit length at B. The
L e fixed end moment at A is
8F _ b
Lal e : ] _
3bh | | 4bh W7 W12
. AF A IF Fat %
!;.{ﬂ"l' PR ._r-\..-\u-.— o II(—;'JI
x v 2 : . ;’ﬁ-.-' d 2%‘1
120. Slope and deflection of beams of varying (c 10 i, 15
s +flexural rigidity mav be easily computed o L
125, The stope detlection method talls i the
by the method due to ,
category
Limeh s ? L'! w ; . J : 4 . s
‘al Macauiay lal  approximate method of analysis
b} Double integration (br  Ficttious analysis
ich Mohy . (c;  Indeterminate analusis
d)l Maxwell (]  Determinate analysis

?r-f}uﬂ ticn Papor-2016 (T.5.)]
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nd thearem may be used
aup-“oVL reachons in a
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(a} Efﬁ'.rf}pped cantilever bemm
(o) Caniilever beam

- 1
heam carried a concertrated toad

at mid span. If the width of this beam is
donihled. the central detlection will be

=y i e same

iy Halved

{c) rensiyied

— H 1 a - - r B - Pt
Hoducea to oneg-guarta:

e
J.l
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il

e
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R f ot
i Tied at bhoth ends

k]

will be induced at & only
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Mioment

inrnent will he induced at B oniy

;'1’.! 1’3 : =uuf E‘.C

e Cnegual moments
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Sway to the right

! POTTL R P o
(el Sway o the left

=
il

Setile downwards

The toe of a retaining wall is sublecied to

Upward pressure from soil

la)

Self weight acting down wards

Both 1 and Z s iidiﬁ@i

Theoretical spacing of stirrups in a
simply supported beam of recianguiiar

section is

(a1 o=

Q

l'_":

increased ay nu d spa
W L

A 1o = ,.-Ld Pt 'y L
(1) increased at SLp}jC?L'Q
' ¥ 7 i v F n <-;"’-1'_ . !r ?}l‘l. ' <R L
1) Keptconstant througnOut the span
) Y e . ¥
e BB Tl B T
() “Decredsed near mid-spar
vvh S i '“rf*_f" :“,"-TI ';'r_':';"i""r""_ o] T
ine rﬂa}ilﬁﬁi\tu SACING 07 WETHICO: o+ ndlis

ERd o v; i i i s A I
is (o hedimited (o (ag pey b @ 800U
F v AT S ) A B R
(1" 0.50d or 120 mm
(I " A .
by 0.30d or 128 mm

deret

Fov the design of a reinior: =i concraie
gaction. the S}'?'dTJE of the shear stress

Garabolic

F
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14D ot LA e e S e st oo FECET BRI Civil En g“me,z;ﬁg [Cuestion Faper-Z076 (1.5.)]
135, Bond strengih between steel and {al  alower stress level

concrete is aue : N ' : i
trete isaue to ib)  an equal siress level

i Lohesion (¢} & high stress level

A T at renerally lower stress level

Lh L'TIL ]_G':} Ui ot

s ¢ 1 ant RC T - beam. in which the # :
b o andedhedog | i41. Inan RC T - beam. in which the flange
i Is comprassion, the position of the

1360 thie modulus of elasticiiy of M 25 grade : (a) Depend on the thickness of the
N/ o) {15 456-2000) can

ke as reiniorcement

flange the overall depth and the

3000 M ¢ im® (b) At the junction of the flange and

i)

I L o TR Al S S N
by ;f.f-_}{i}".:’kf R SN

- £ s 'fi:,} Y ‘in} Ling “.:1: g&j
:.-' ; H v
6O00 N Tk |
| ™ sad o .
(a)  Be within the weh
Ay Z00D0 N S mm” | o o .
| 1420 An RC column of 200 x 200 mum has ars
e partial safely tactor for concerete 2y | effective length of 4.8m. The reduction

cavah 0 Ahe-Z20040 i coeflicient is -

) _ . i om
K i R o i o f= 1 .
i Ao i Ealiny iy U8
i CEd Sn i = s #:
H Lo e 03 b o R TR e n oo
R YN AAs e 090 S d 695
Sive it} 448 : :

£

143 ~The load cupamt‘y nf a column designed

e

12, The minimum and maximum valuzs o 2 : - :
by the working stress method s 600N,

oyl

e longitudinal reinforcement 1n ;
7 ' - - 11 ' H
cWhat then, is its collapse lead

-

S - I T Ty IE -
Coiuimn as percent of the sectional area

C Y GO0k i EOREN
e .-:,, o v cl 61}__}&] ey k;s‘ ;{?\._
i the column are oz N =Y L HHOREN
i = I TR [P LR o T
3y it S e I 5 T S e 'u,'\_,'J kjh)’"...J:".[\‘é '\."—.r A I\_ﬂ,{;h;_ i
a oo alibo P 0.8.and &
3 4L ” ‘
144. Fora two-way slab, limiting deflection

3 {'.].6 arig o j ] SR Y o o B

! FEN e R R ‘-.\,. chyrnrd e
1'3,11 a2 funoion of the shori Si5an

T "l.u'f eyt

P i f)" B e (b a tunction of the long spans
Ve 41 inslabsand beans should ot : Ao ERATE R e S
% ¥ b ;

)
3 e fG* 4 52004 {c) independent of the spans

) T 0.35 G 040 a3 e _
it o ) He consists of 8mm vars at ¥ o spacing

s =) [ =
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[ECET FDH] Civii Engineering [Question Paper-20T6 {L5Jf- " wielv s i i

1

146, Tc-*'aion-r-asisting capacity of a given RC | 150. Systematic errors are those

seciion b o
. la)  Which cannot be undarstood

(&) increase with increase  In . _
! Which cannot be recognized

lengitudinal and fransverse stegls

e L , ¥os Which cannot be detemined
b Decrease with increase in |
ongitudinal steel ] ‘dy With cumulative effects’and which
; — can be gliminated by exercisin
Ac) Decrenses with increase of spacing | J <
SRS E certain precautions and making
; . , | necessary corrections
(d Noes not depend on the |
reinforcemnent i51. The angle between a line and the
147 The crivical section for the tiexural design meridian. measured clockwise from the
1 ] 1 [ ; : 4 = 1; s +! ) 5
of an isolated footing having an meridian is called the ..., ...... bearing
effective depth 'd is ~f the line
{ A ..]_,_,. A v b - = S | RN o
Lot =1 > face Of The OGN ekl iTug Deorind .
oy i R ~y 11} Lo F L 11T o
v At a distance d:2 from the jace ol hy Whaole siicle :
the column ; Lo e % LG
LG} Hali circle i .
; . . . ¥ . g
(<] At 5 distance d from tne face of - .
] (1 LJuarter Clrcig ™
ire colmn # e o
; ; o4 .52, The reduced bearing corres ponding to 2
iy Ata distance 24 from the face of
y i w‘i’ao;r’ i 11"6{':* M,Lmu“-"' sf 1907 00
ol 'LFJEU'T]H H
] | - (&) ‘56{7 (W H) 510 00w
148 [stribution reinforcement in slabs s S O -
always provided 1o e fo o) Nel 00 W (dy NIO (W
(a}  Resist shear on acdc ount of | 1585, Hthe whole circle bearing mch:LHi‘;i b'-;
unexprected torsior - T T a prismatic compass is 120" its bearing
iz ey .IE ]
::‘C] Hogist snealr neal ihe SUDF}OT[ ‘ measures oy SUrveyor s COMPRass is
: .«“x i
¢ : T : . fiba R I e B T et
(¢ Resist shear «n account of | (a2l HbU T {b) N1zt
g iy S : ) a
ne@rqgene;ip ol concrete : ] NG E (d} a0 W
L S i
(d), Frevent shrinkage and | 154 T o hed o s (oo
AR RN UE1 154 The graphical method ot adjustrment of
e R " 4. =',-=F\4.tlr.3 {
; TR T G TULE : : _
A s BETe & closed comnass ITaverse is known as
i 249 M hwl“ section is good from the ductilily | Phe method
w T.y  point of view ﬁ , P
a0 ) 21 Bowditch b} Samuel
: :
k =) Inder-reinforced section '- J
i) ajarmnutn ‘d) greermcn
) Balanced section b | 55 S
i 155, During leveilsyg itt the back sight is more
ey Owver-reinforced section P — ; - }
d T i " g than the fnresight, which of the following
]
1) elashic sectiot li is corvect

el HES tion F“{"Ef'){“ﬂfﬁ_m;*}
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144 serssEnprn s s s [ECET FORT Civif Engineering [Question Paper-2616 (T.5.)]
{a} - The difference in level cannct be | 199. T‘“—-e procedure by which the refraction
soreitainedh orrection at the time of observalion
may be found is
(bi  The back staff point is lower than o)  Sindleobservationclevation
the forward staff point '
(b)  Single Db%ewauoﬂ denression
ic)  The forward staff point is lower . i« L
T (ci  Single observaticn-very large
than the back staff point Hietarics
s T ] i 3 s o P Gy
d}  The forward staff point is equal (d) Reciprocal observation
to the back staif point o o o .
160. Periodic variations in the level of the
156. The ratio of the linear displacement o | surface of a large body of water like the
EHE téﬂgth of the traverse tEﬂQ at the end ’ sea or an ocean are calied
2 1M S -.'.’.‘_. k.H U ONe 5 r'.':'ﬁ_‘-j ”L \ O Cha o g 3
of the line, subtended by one second ¢ 5 Wkeiss (b} Plumbob
the arc of a theodolit station is THY e i
) lidles il Yileigzitte iy
ial  1:203.600 b 1:3. 600 B ) e
-.".‘F!i T_! : q *._}U "-.:}_.! _1:1. . Iu j a1 - Lot # e
i | ’ 161, The characteristics feature ofia mining
i : ¢ G R 5 i e ¥ \rva e
() 1:206, 300 id) 1:3, 440 theodilite is the _ p*f@%l‘?iﬁﬁf”'i@f
T 5& i
t e . | .. telescope he side
157, 1if R is the radius of the curve connecting ¢ I- h“iiig}
and ?.}1 z o ”1”‘»&»{ the 1o e
two straights me=zting at an external e
. s L @({\,@’1‘\?
deflection angle A, the lengih of the long (&) 5 I””“@iﬁtui 3
..m __{ &
chord is (B %mﬁ; %@ﬁ?%‘
R i
A | A L RO ol ve} 1‘%
! DI o s diige bod S
@) ZRtan 5 b1 Ry T2 . S uiéymmetic
i : f 1622 The c*h;:.%c petween each degree of
L 28 sin B d)  Rian T"f""‘ ﬁ ¥ latutude is approximately
- : *fﬁw sral (a) 23 miles () 5l miles
158, The apex distance o Cll’CLﬁﬂf’.-\;:j_;lﬂI_"y\}E of
el i hE -+ =
radius R and u:,F' scton dngi bisgiven (¢} 6% miles (dl 111 miles
oY : 163. The tupe of surveying in which the
& {X,; e # &R i ) o
W ?f" - curvature of the earth is {faken intc
(a) =l Csec—aif, account is called
i 2Er
R iy A ) o a) Geodefic sun
el n. Seode veying
.--5&‘#’5& 4‘4‘{% ; >Q>.$ e
P bgj i ‘*}? A ¢ (b}  Plane surveying
g —— \@w C-‘r_.! ?
% oy, (¢} Preliminary surveying
® : ; ¢ id]  topographical surveying
(c) ZRtan —
| 4 164. The magnetic bearing of the line AB was
4 N 58 30" when the declination w ns ’1 10
{d} R cosec- ? E. [f the present declination is 3 "N th
~whole circle bearing of the line is
SECEE T e fuuﬂ?fmn Paper- 2016 (T8, ) [semr i s et pn as bes ton il s ) Tiie Lo
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[ECET FDHJ Civil Engineering [Question Paper-2016 (1.5 )] 5 Silam it inams

0 0 _ .. _
(a) 299 20 (b)y 307 40 170, What is the dimensionless number that
(c) 293790 () 301" 40 results when the ratio of inertia force to
viscous force is considered
165. The local mean time. at a place in .
longitude 90 f—LD when the standard ()  Beympids
time is 6 hours and minutes, the (b}  Froude number
0 :
standard meridian being 82 30'E is (¢) Mach number
b m 5 B it 5 :
(a) 5 02 40 by 5 57 20 (d)  Euler number
_ h m h m g :
ey 6 30 (dy 7 02 40 171. What would be the shape of the best
166. What is the value of the specific gravity hydraulic triangular cross-section of an
S iEteT St 4“ C open channel
AR (b) 10 (a)  The angle between the sides is 45,
| in such a way that one of thg sides
c) 038 (@) 1.0 is vertical _:gﬁ i&
167. How does the viscosity of gases change (b) Theangle bﬁtwe%ﬂ ih; sies @90
with increase in temperature iaieh @ wag ﬁéaif ﬂn@,‘,oﬁf ts*leﬁquéc
(@) Increases (b) Decrease is HL;%E} %chinaﬁm t’j"’f’m&* vertical
(c) Remains constant ¢} The ém%ebetwe&n the sides is E}O
s nuch@a way%ﬁai‘ one of the sides
(d) Becomes zero m;} v t?érﬁtmaf
168, Name the equation ‘ ‘”’Th% angle between the sides is 60
; , i .-7:-*3 n such a way that one of the sujes
PV P, V3 j A il b -
Zi+—=d——=Z,+—5+ z e is at 30 inclination to the vertical
Wy 20 W1 Zg Tmas s . _
$5%;, wgpagr172. The approximale length of a hydraulic
(a)  Bernouli's energy er?;uaﬂ@ﬂ " jump will be |
b) Hagenﬁpmseuﬂe eq&atlon fa) 36 times the value of difference
{ ient depth a
) Longg;&uriy eguatmn betw:fzen }’11@ sequent depth and
4 w e initial depth
(d) . ;Mc}menf n equation ‘ _
Gih e e - a (b) 26 times the value of difference
év B gt W\x{ s “’Wf% ' . | ) 1 1
R g dV between the sequent depth and
B, ‘;16%9 ?«ggﬁéx‘%e type of flow, if dt = initial depth
g R _ _ N
mess 37 (@) Uniform flow (c) 16 times the value of differenc
s e _ between the sequent depth and
e (b)  Non-uniform flow . : .
: initial depth
() Steady flow dy 6 times the value of difference
(d)  Unsteady flow between the sequent depth and

initial depth

g
i

[Quegfmn Pap@r-}.’{ﬂﬁ (T.S)] )

LT L DA
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TAEG ensmmrRan s rnessse [ECET FDH] Civil Engineering [Question Faper-2016 (1.5.)]
173, The relationship between critical depth {a} acceleration equaticn in the x
and critical velocity head in a rectangular direction
channel . L I
(b} Hagen-poiseuille equation in the
(a)  Critical depth is one and a half wdireetion
irnes the critical velocity head o
: (c) Couette flow phenomenon
1o - [ ] . . 11 -
bl Critical depth is twice the critical . __
s ical dep . S equation in the x direction
velocity head
. s . . Ll (d)  Navier - stokes equation in the x
(¢}  Critical depth is half the critical _ _
: direction
velocity head
3 . ) . n - j .i ¥
(d)  Critical depth is equal to the 177. Pick the proper terminology used in
itcal i1 sical ics for the ¢
critical velocity head classical hydrodynamics for the case
o ’ - _ where in water from now here gets
174, In the case of an open channel with a . ,
, . . released radially outward, from a point,
mild slope, if y_ >y >y (where v is the _ .
o . - along a horizontal plane i
depth of flow , v _, the critical depth, y_ L o,
* the normal depth for uniform flow}, the (@) doublet m} e
resulting wa*é‘.ea* surface profile will be bl Vorfex .
la) M, curve with super-critical flow, ; P \%
€ (c) Sourcer
draw-down curve p——
DTTIRE e
HETER Tﬂ i “'3‘* e
(G M, curve with super- critical rlow, (d)e: o2 k%% f :
back-water curve 1?8?2% ~Ueio 11y¢ aﬁieni‘ is taken on the x-axis
a'-; :__ TR »
{C} MS curve with super- critical fl@w,k, - x§ﬂi’i Sh £3 ::-TTE?,QC; is taken E’lJD]"‘Ig the -
A
hack-water curve 2 .: . axis int a rheological diagram. Which of
" ; - i the following represents a plot for ideal
(d} M, curve with super- ﬂrmca ffow_ T ving rep
s fluids
draw-down curve mww e
i &f}.%’}“ : I i et S O
175. The cross section of an opef ii-channel is {a}  an inclined straight line not
;emtapguam;}mh e vdiuas of best passing through the origin
width, dﬁpﬁ% and diseharge as 4m, 1.6m (bt a straight line along the x-axis
and 12. ‘ﬁ% cur‘rrr?f Fifid the approximate 1| — ]
e B C an inclined straight line passin
i :.Uﬁaue;,@f tHe, fruude number (c : _ 'g P 3
b g B through the origin
e ol “1» 2 b} 1.2
R (d:  a curve [not a straight line)
B g DREple ] B i} 05 S h b ek |
Eom e _ | . passing through the origin
TTHTE Y Name the following equatinn |
far .~= nocme gkl .
s 179. A RC siab 3m x 2m is supported along
i W O B CS TR E 1 ép & with short span. the behaviour of the
dr G 2 £z pox p slab is
2 =2 | ne we Vo Two wa
if”{:_,-u Bl i (al  One way (b] [wo way
TR E T G 1 o :
| e 2" ) (¢ Three way (dd} [rregular
B P‘ [Question Paper-2076 (1.5.] E L L LA s s e S I T BT T e
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180. Compressibility of fluids is inversely | 185, The average approximate value of delia

proportional to - : for rice crop in our country 18

(a)  E.youngs modulus of elasticity {a} 120 cm ) 60 cm

(b}  G. modulus of rigidity ¢y 3Ccm (d}y 1i5¢

(c) K. bulk modulus | 186. If A represents delta.in meters, D
(d) R. reynolds nurmber represents duty in hectares per cumec

181. In Chezy's equation for uniform flow and B represents base period of a crop
x_ ” in daus. then, the equation connectin
through open channels, V = C./ 5 _ b5, , ] g
L them would be

stands for

(a)  Hydraulic Jump N 8648 : 86418
l'._d:' N = }*\( : {EJ) A = _!')_

(b)  Hydraulic mean depth ’ :

lc Channel slope 8641 2 640

ok e l icy A= 5 [y A= o

{d) average flow . &

187. Duty of irrigation water for & qiven crop

ﬁ;,‘? g"?«-vx,g

182. A kalpan turbine is

(a! Low head axial flow turbine | fa)  Does not vay &%‘v’lfh\ih@ season -

Y} High head reaction turbine 1 {b) Does *mf Umy mﬁh clifiizte

(c) Medium ﬁeaii reaction turbine | {cj ﬁgﬁ‘%@l U“:f'f' WA 1’*‘%} L]']'? type of soil
i =

(d)  High head impulse turbine | E?ﬂ% DQ@‘& aot ‘Wﬂd n constant for all
et &piaﬂﬂaﬁ

183 The ratio of the weight of water t. ot S
consumed from various sources b‘y & 188* "Lj‘!e I‘m*@ of waler delivercgad to the neelids

nlant in order fo produce one unit W@igﬁ‘l >The outlet of a cnanngl 0 waley
of niant zbove the root zone is Laher:, pumped intc the channel a: the
ek e §- = ; 3 s . L ¢ S|
: wmage % i supstream end is calied
(@2} Irrigation ratio i -;: ; e e B P '

Tii £ A SR ] Efficienicy of water agphcation 1
VAT ram:} G e a

Efficiency of water storage 1,

Lut .

o

&
——
o
e

ke

(c] Luagm‘a"tlon ratic

r {c) - Efficiency of water use 7],

D‘:

v TIra ﬁsﬁgraﬁ? i}’ﬁ rafic
‘ ' ¥ : ﬁﬁw@»& ,é\ ,d)
184. The fecamc@@@rm uged for the total |

"=’v'~‘ff3-f§§?‘quaﬂtm of Fwater required by & crop for | 189 The total area of land in the irrigation
@”&Qb fuli-fledged growth, expressed as x houndary of a project {including the
. ;En‘ti‘{‘ratgzrﬁ depth of water standing over -ones which can be cultivated #nd which
the irrigated area, is cannot be cultivated) is knows as

Efficiency of water conveyanie 1,

Area to be irrigated

e

a)  Duty (a

(b}  Cultivabie command area
)

(b}  Delia t d

(e) Drip ‘! i Gross cornmand area
I 13 e Prr i ot LT Y el

{d} T}, AT I.)ll -tlon l’diIJ ((-.J.; LrO=s it figatgd Cii e

LIRSS lf Quesffﬁrn Pap f‘e r-2016 e’? SH e e T T TR T R T e e T TR
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148 oA A s s [ECET FDH] Civil Engineering [Question Paper-2016 (1.5.)]
190. Which of the following represent Ryves (c) f irrigation is adopted all along
tormula, if @ stands for peak flood the length of a canal, such canal
discharge? A stands for catchment area is called a lined canal
ana C2 represents a constant whichi (d)  If irrigation is adopted at only
depends on several factors specific locations of the canal,
fa] Q= CZ,H"J*""'Z" such a canal is called a lined
- 23 canal
b)  Q=C, A% ‘
; 19 193. Whatis a barrage
() {Jes Cz.f'-\, :
d)]  Q=C,.AM (a)  Itis a small structure constructed
' - across a river to impound water
191, A and C, represent, respectively, and thus increase the level of
catchment area, in sguare kilometers and water on the -U},."S side before
catchment characteristics constant, allowing water to flow either
which depends on several factors. In partly or fully on to ﬁ%-ie
order to determine the peak discharge, downstream side of m@ tfﬁer @w
(Jin cumec, it is decided to make use of *“
. s : | | {b) 1t is structure caﬁ-strucied across”
an empirical formulae known as dicken's %«
) _ g a river, fo 11}‘1@\0Uﬂ wat@r and thus
formula which of the fotlowing represent 1
sy 5 5 ) crease e-level G’E water on the
dicken's formula
: 4;5“5:51@ ﬁ&%l"ﬁ@l"w‘tc} divert water
g 1
(a) Q=C.A “hto @Rﬁalswa“fmosf at right angles
3 - ?IE A
b) Q= & i, lc‘) iifm Cﬁrc,ctlon of the river, and
o Q=C 172 FiRen. 15@ to release water on o the d/s
) il . . e g
i - e direction of the river :hrc-ugh a
. .1 S g £ . " . . ;
(e} (=0 0A il = series of gate of openings in the
162, Whatis a lined canal Q; S g structure.
’5 owﬁ» ; 3 g bony s ot s :
{a]  If the axis of & cenal isa. straight (c}  1t1s astructure constructed across
ya H A } y 1 .
line all alosig the lengthiof canal, & river to impounc water so that
such a'&apal is called a lined sufficient head is created by
o g -_,> b " , . . =
caial, oo which, water can be conveyed
e S Sk s C A
G e, i _ _ through pen stocks to the turbines
(p). ¥lnstead of aﬂowmq canal water to : :
RS e d thus create an opportunity
Gl mme in Eontact with previous soil X , .
R . to generate hydro-electric power
43 wesrescematérial, if the bed and sides of a o _ J :
5 | TEEh, TR s N - before allowing water on to the df
covsesiowns o canal are covered with relatively g ; ,
e Sl S s direction of the river,
g 2 TR X - - s . .
4 impervious material like cement
ST . - 1 : ety : ructed acrozss
i concrete surfaces, such as canal (d) It is structure constructed across
. 5 t P - S 3 l_'ﬁ i W E -F-L -
is called a lined canal a canal wherever the leve! of bed
drop down significantly, to allow
water to fall down to a lower level
safely without scouring the bed
_\'\-:,_:_'_-_-_ _--\._"_-___':_ - _‘ﬂ-_\_._-___:f [Qt:esf;on mﬂ&pﬁj‘nzﬂ?ﬁ {(?_I_,E:__}J? __ B e --"'._-'*"'.\__":"_:\L_-_-"-_:_:"""_-'7-"'1__:_-'-;:-"_:_'""'""-'."-'-'
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194. What is a cross-drainage work 196, In a model of an irrigation channel, a
right angled triangular notch is used to

1 :-- g = . 1 .. ai’ il i . H
(a)  Itis a structure constructed at a measure the discharge C, of the notch

I 1 e o Py = r [ : ¥ 4o ]
place where a canal and a natural i U 62 and the head over the notch is
stream cross each other almost at 50 mm. What is the approximate value
right angles to each other, and ‘ of the rate of tiow
one over the other (a) 12.76c¢c

(b} 1t is a structure constructed at a (b}  12.76 cumnec
place where a railway crosses over (cj 12.76LPs
the flow of drainage water almost I (d)  12.76 (mm)
ar right angles to each other R - : o
> 197. Water from a well, when pumpec into
(c) It is a structure constructed at a a farm distribution system at the rate of

place where a highway crosses over one cumec, is delivered as 0.85 cumec
' at a distance of 0.58 km from the ucli
A

the flow of drainage water almost
How much is the resulting }'}prfﬁﬂf

at right angles to each other.

conveyance efficiency e,
(d)  itis a structure constructed at a | . a : WW*
F - i X 1 {aj j66 {bf w‘;. %8 ﬁm&
place where a fresh water pipe line v e
crosses over the flow of drainage (c) 85 " : 53,;15 Jovs gﬁi*ﬁ
of water almost at right angles to E 198. The mimmﬁrg value cri thc, ratio of the
gach other | distance from tpe rain Bahge to an object
S _ . ] and; the m; ht. Q; the object is
195, In order io measure the rate of tlow o1 f 3
water through a flume used as a mode! | T,i_"-’l‘:} % s by 2

i i '-5\

o {&;:3‘ 10 & 20

for an irrigation channel, a triangular |
g

notch is used. Which of the loioui?‘mc‘

194 W}m tupe of dam is constructed using
equaticns, with the usual ﬂotawcﬂﬁ is . | 19
o Ea ; the hydraulic fill method
to be used | ‘ﬁ‘:‘f‘%fﬂ o ﬁ =
e (a1} arch gam
. :‘-@-ﬁ, ' -~ . - 4
(b)  Concrete gravity, dam
(z)  Masonry gravity dam
id) Earthen dam
| 200 What type of canal is aligned along the
e natural watersned line
sl | =z} Contour canal
; ) Ridage canal
) ‘e Side sione
! ;
id}  Protective canal
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e

{106)a,b,c

g

(109) ¢

e
(N
o |

-------

o g
L.

':@w ﬁé.;i;‘h-.»__q i

g

TR R e s s s Ef:-__:'__ii : ?{} fros f f 1‘:’ }1:?? !j’a p g ‘a‘::}:}_j‘ 6 {" T: Sam\:ﬁ“-”*-- -

kS

T o ; o - - : ﬁA% : Iw s
(178) & | (179) a | {(180) < | (181) c | (182 %%jgumﬁ (184) ©
(185)  a (186) a | (187} & | (188) &7 | (1891 cs¥ (190) & |(191) a
5 L e i vw%ﬂ.ﬂ
(192) % (193) b | {194) a 7395) e [{i96) ¢ | (197 ¢ [(198) b
(199) 4 | (200) b b s |
Lipr '
o T =
ﬁfﬂ.‘%m; P =
. - B )
%;,%;,* f ‘% ;«» ’\L -
v “;;'%' x .;Z«a B :: s '?.-

collegedunia:s

India’s largest Student Review Platform



